ME )/ILE Body/Cabin

New articles September 2016

Cabin air filter 312320 0024/S
Notes
Height [mm] 22
Length [mm] 210
Width [mm] 20
Activated Carbon Filter
Kit
References
BMW 64319159 606
Application info
BMW 3 (E90, E91, E92, E93) (01/05-05/12)
Wulf Gaertner Autoparts AG - www.meyle.com 1

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Brake disc

Notes

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Centering Diameter [mm]
Height [mm]

Minimum thickness [mm]
Number of Holes

Outer diameter [mm]
Wheel Bolt Bore @ [mm]

References

MERCEDES-BENZ
MERCEDES-BENZ (BBDC)

Application info
MERCEDES-BENZ BM 204 (C-Class) (01/07--)

Brake disc

Notes

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Centering Diameter [mm]
Height [mm]

Minimum thickness [mm]
Number of Holes

Outer diameter [mm]
Wheel Bolt Bore @ [mm]

References
MERCEDES-BENZ

Application info

Front Axle
112

25

67

64,5

22,4

5

288

15,2
Vented

2044210012
0004211912

Rear Axle
112

9

67

55,4

7.3

5

258

12,8
Solid
Zink flake coated

2024230012

MERCEDES-BENZ BM 202 (C-Class) (03/93-03/01)

Wulf Gaertner Autoparts AG - www.meyle.com

Brakes

New articles September 2016

015521 2098

MERCEDES-BENZ (BBDC) C-CLASS (W204) (03/08-10/09)

p<) 015523 0020/PD

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME)/LE Brakes

New articles September 2016

Brake disc P<) 083 5212041/PD
Notes
Front Axle
Bolt Hole Circle @ [mm] 112
Brake Disc Thickness [mm] 26
Centering Diameter [mm] 67
Height [mm] 51,5
Minimum thickness [mm] 23
Number of Holes 5
Outer diameter [mm] 303
Wheel Bolt Bore @ [mm] 15
High-carbon
Vented

References
MERCEDES-BENZ

Application info

Zink flake coated

1634210212

MERCEDES-BENZ BM 163 (M-Class) (02/98-06/05)

Brake disc 11-15523 0014
Notes

Rear Axle
Bolt Hole Circle @ [mm] 108
Brake Disc Thickness [mm] 12
Centering Diameter [mm] 711
Height [mm] 35
Minimum thickness [mm] 10
Number of Holes 5
Outer diameter [mm)] 268

Solid
References
CITROEN 1609582880
PEUGEOT 1609582880

Application info

CITROEN C4 Grand Picasso Il (09/13--)
CITROEN C4 11 / DS4 (11/09--)

Wulf Gaertner Autoparts AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

PEUGEOT 308 11 (09/13--)


http://www.meyle.com

MEYLE

Brake disc

Notes

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Centering Diameter [mm]
Height [mm]

Minimum thickness [mm]
Number of Holes

Outer diameter [mm]

References

CITROEN
PEUGEOT

Application info

CITROEN C4 Grand Picasso Il (09/13--)
CITROEN C4 11 / DS4 (11/09--)

Brake disc

Notes

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Centering Diameter [mm]
Height [mm]

Minimum thickness [mm]
Number of Holes

Outer diameter [mm]

References

PEUGEOT

Application info
PEUGEOT 308 Il (09/13--)

Wulf Gaertner Autoparts AG - www.meyle.com

Rear Axle

108

12

711

35

10

5

268

Solid

Zink flake coated

1609582880
1609582880

Rear Axle

108

10

71

35

8

5

249

Solid

Zink flake coated

16107 619 80

Brakes

New articles September 2016

p<) 11-15 523 0014/PD

PEUGEOT 308 11 (09/13--)

p<) 11-15 523 0016/PD

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Brake disc

Notes
Front Axle

Bolt Hole Circle @ [mm] 108

Brake Disc Thickness [mm] 22

Centering Diameter [mm] 66

Height [mm] 34,2

Minimum thickness [mm] 20

Number of Holes 4

Outer diameter [mm] 266

Wheel Bolt Bore @ [mm] 13
High-carbon
Vented
with screws

Zink flake coated

References

CITROEN 4249.G1
E 169 141

PEUGEOT 4249.G1

Application info

CITROEN Berlingo | (07/96-12/07)
CITROEN C Elyse (11/12--)

CITROEN C2/C3 1/ Pluriel (02/02-09/05)
CITROEN C3 11 (11/09--)

CITROEN C3 Picasso (02/09--)

CITROEN C4 Cactus (09/14--)

CITROEN C4 I / Coupe / Grand Picasso / Picasso / Stufenheck (11/04-12/07)
CITROEN C4 Il / DS4 (11/09--)

CITROEN C5 I/ C5 11 (03/01-04/07)
CITROEN DS3 (11/09--)

CITROEN Xsara (04/97-08/05)

Brake disc
Notes
Rear Axle
Bolt Hole Circle @ [mm] 112
Brake Disc Thickness [mm] 12
Centering Diameter [mm] 65
Height [mm] 48
Minimum thickness [mm] 10
Number of Holes 5
Outer diameter [mm)] 300
Wheel Bolt Bore @ [mm] 15
Solid
with screws
Zink flake coated
References
AUDI 3Q0615601
VW 3Q0615601
Application info

AUDI A3 (8V1, 8VS, 8V7, 8PA) (04/12--)
AUDITT (8S) (09/14--)
VW Golf VII (08/12--)

Wulf Gaertner Autoparts AG - www.meyle.com

Brakes

New articles September 2016

p<) 11-83 521 0017/PD

CITROEN Xsara Picasso (12/99-09/06)
PEUGEOT 1007 (04/05--)

PEUGEOT 2008 (03/13--)

PEUGEOT 206 (08/98-03/09)
PEUGEOT 207 (02/06-10/08)
PEUGEOT 208 (03/12--)

PEUGEOT 301 (11/12--)

PEUGEOT 307 (08/00-01/05)
PEUGEOT Partner | (04/96-10/06)
PEUGEOT Partner Il (04/08--)

P) 115523 0013/PD

VW Passat (B8) (08/14--)
VW Touran Il (09/15--)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME)/LE Brakes

New articles September 2016

Brake disc 183 521 0044/PD
Notes
Front Axle Right
Bolt Hole Circle @ [mm] 130
Brake Disc Thickness [mm] 36
Centering Diameter [mm] 85
Height [mm] 68,5
Minimum thickness [mm] 34
Number of Holes 5
Outer diameter [mm] 360
Paired article numbers 183521 0043/PD
High-carbon
Vented
with screws

Zink flake coated

References
PORSCHE 958 351404 01
VW 7P6 615 302
7P6 615302 A
Application info
PORSCHE Cayenne Il (06/10--) VW Touareg (7P5) (01/10--)
Brake disc 2155210047
Notes
Front Axle
Bolt Hole Circle @ [mm] 118
Brake Disc Thickness [mm] 22
Centering Diameter [mm] 73
Height [mm] 72,5
Minimum thickness [mm] 19
Number of Holes 5
Outer diameter [mm] 276
Wheel Bolt Bore @ [mm] 15,5
Solid
References
IVECO 42470836
Application info

IVECO Daily Il (11/97-07/07)

Wulf Gaertner Autoparts AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Brake disc

Notes

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Centering Diameter [mm]
Height [mm]

Minimum thickness [mm]
Number of Holes

Outer diameter [mm]
Wheel Bolt Bore @ [mm]

References
IVECO

Application info
IVECO Daily Ill (11/97-07/07)

Brake disc

Notes

Bolt Hole Circle @ [mm]
Brake Disc Thickness [mm]
Centering Diameter [mm]
Height [mm]

Minimum thickness [mm]
Number of Holes

Outer diameter [mm]
Wheel Bolt Bore @ [mm]

References
HONDA

Application info

HONDA Civic VIII (09/05-02/12)
HONDA FR-V (08/04-09/06)

Wulf Gaertner Autoparts AG - www.meyle.com

Rear Axle
118

16

73

66,5

13

5

276

15,5
Solid

2991646

Front Axle
114,3

23

64,2

47,2

21

5

282

12,5
Vented
Zink flake coated

45251-S7A-E10
45251-SJH-E10
45251-SMG-G11

Brakes

New articles September 2016

215523 0035

<) 31-15 521 0052/PD

& A

-
-

HONDA Stream (05/01--)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Brakes

New articles September 2016

Brake disc ) 31-15 523 0055/PD
Notes
Rear Axle s
Bolt Hole Circle @ [mm] 114,3
Brake Disc Thickness [mm] 9
Centering Diameter [mm] 64,2
Height [mm] 42,2
Minimum thickness [mm] 8
Number of Holes 5
Outer diameter [mm] 260
Solid T —
Zink flake coated
References
HONDA 42510-SMG-E20
Application info

HONDA Civic VII (01/00-12/05)

HONDA Civic VIII (09/05-02/12)

.

Brake disc F’ED 33-155210017/PD
Notes

Front Axle
Bolt Hole Circle @ [mm] 114,3
Brake Disc Thickness [mm] 25
Centering Diameter [mm] 62
Height [mm] 49
Minimum thickness [mm)] 23
Number of Holes 5
Outer diameter [mm)] 294,5

Vented

Zink flake coated
References
SUZUKI 55211-65J00

Application info

SUZUKI Grand Vitara Il (JB) (04/05-12/09)

Wulf Gaertner Autoparts AG - www.meyle.com 8

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME)/LE Brakes

New articles September 2016

Brake disc ) 37-15 521 0039/PD
Notes
Front Axle =
Bolt Hole Circle @ [mm] 114,3
Brake Disc Thickness [mm] 23
Centering Diameter [mm] 69
Height [mm] 444
Minimum thickness [mm] 21
Number of Holes 5
Outer diameter [mm] 280
Wheel Bolt Bore @ [mm] 12,7
Vented
Zink flake coated
References
HYUNDAI 51712-A6000
KIA 51712-A6000
Application info
HYUNDAI'i30 (GD) (11/11--) KIA Cee'd Il (05/12--)
Brake disc ) 37-15 523 0038/PD
Notes Em—
Rear Axle W e
Bolt Hole Circle @ [mm] 114,3 s 3 3
Brake Disc Thickness [mm] 10
Centering Diameter [mm] 76 .
Height [mm] 25,9
Minimum thickness [mm] 8,4
Number of Holes 5
Outer diameter [mm] 284 ~— o
Wheel Bolt Bore @ [mm] 12,5 e ——
Solid
References
HYUNDAI 58411-A6200
KIA 58411-A6200
Application info
HYUNDAIi30 (GD) (11/11--) KIA Cee'd Il (05/12--)
Wulf Gaertner Autoparts AG - www.meyle.com 9

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME)/LE Brakes

New articles September 2016

Brake disc <) 53-15 521 0006/PD
Notes

Front Axle
Bolt Hole Circle @ [mm] 120
Brake Disc Thickness [mm] 30
Centering Diameter [mm] 79
Height [mm] 76
Minimum thickness [mm] 27
Number of Holes 5
Outer diameter [mm] 344
Wheel Bolt Bore @ [mm] 16,6

Chrome-(VI)- free passivation
Vented

References
LAND ROVER SDB500182
Application info
LAND ROVER Range Rover Il (03/02-08/12)
Brake disc 615523 0025
Notes

Rear Axle
Bolt Hole Circle @ [mm] 110
Brake Disc Thickness [mm] 12
Centering Diameter [mm] 65,5
Height [mm] 414
Minimum thickness [mm] 10
Number of Holes 5
Outer diameter [mm] 278
Wheel Bolt Bore @ [mm] 14

Solid
References
FIAT 46836489
GENERAL MOTORS 93171848
OPEL 569115
SAAB 9156785
VAUXHALL 569115
Application info
FIAT Croma Il (06/05--) SAAB 9-5 (YS3E) (09/97-08/05)
OPEL Vectra C/ Signum (04/02-09/08) VAUXHALL Vectra Mk Il / Signum (01/00-10/08)
SAAB 9-3 (YS3F) (09/02--)
Wulf Gaertner Autoparts AG - www.meyle.com 10

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME)/LE Brakes

New articles September 2016

Brake disc p-ED 783 521 0027/PD
Notes
Front Axle
Bolt Hole Circle @ [mm] 108
Brake Disc Thickness [mm] 23
Centering Diameter [mm] 63,5
Height [mm] 44
Minimum thickness [mm] 21
Number of Holes 4
Outer diameter [mm] 258
Wheel Bolt Bore @ [mm] 13
High-carbon
Vented
Zink flake coated
References
FORD 1679853
Application info
FORD Fiesta VI (06/08--)
Brake pad set 025 2584116
Notes
Rear Axle
Brake System ATE
Height 1 [mm] 41,2
Height 2 [mm] 46,2
Thickness [mm] 16,1
Width [mm] 123
not prepared for wear indicator
with anti-squeak plate
References
PEUGEOT 1610814180

Application info
PEUGEOT 308 Il (09/13--)

Wulf Gaertner Autoparts AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

11


http://www.meyle.com

Drive train/Transmission

MEYLE

New articles September 2016

Hydraulic filter kit, A/T 714137 0001
Notes
Manufacturer Restriction GM
Transmission Type 4F27E
Automatic Transmission, 4-speed
Kit
References
FORD 5046 305
XS4P-7B155-AC
MAZDA FNO1-21-500

Application info

FORD C-Max | (02/07--)

FORD Fiesta IV / Puma (08/95-06/02)
FORD Fiesta V / Fusion (11/01-06/08)
FORD Focus I1 (10/03-09/08)

Hydraulic filter, A/T

Notes

FNO1-21-500A

MAZDA 3 (BK) (06/00-06/09)
MAZDA 6 (GG, GY) (06/02-12/07)
MAZDA 6 (GH) (08/07--)

014 136 0002

Transmission Type 7G-DCT
Transmission Type 724.0
Transmission Type K7A240
Transmission Type K7A350
Transmission Type K7X350
Transmission Type K7X400
7-Speed dual-clutch transmission
Piece
with seal
References
MERCEDES-BENZ 246 377 2300
Application info
MERCEDES-BENZ BM 117 (CLA) (01/13--) MERCEDES-BENZ BM 246 (B-Class) (11/11--)
MERCEDES-BENZ BM 176 (A-Class) (06/12--) MERCEDES-BENZ BM GLA-Class (X156) (12/13--)
Wulf Gaertner Autoparts AG - www.meyle.com 12

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Drive train/Transmission

New articles September 2016

Hydraulic filter, A/T

Notes

Transmission Type DCT450
Transmission Type

Piece
References
FORD 7M5R-7G186-AC
Application info
FORD C-Max | (02/07--)
FORD C-Max Il (12/10--)
FORD Focus Il (10/03-09/08)
FORD Focus Il (04/11--)
FORD Galaxy Il (05/06--)
Stub Axle, differential
Notes

Front Axle
Length [mm] 125
References
AUDI 0A6 409 343 C
SEAT 0A6 409 343 C
VW 0A6 409 343 C
Application info
AUDI Q3 (8U) (06/11--)
AUDI TT (8J3, 8J9) (08/06-06/10)
SEAT Alhambra Il (710) (06/10-05/11)
Stub Axle, differential
Notes

Front Axle
Length [mm] 142,5
Outer gearing wheel side 23
Outer teething differential side 37
References
VW 02Q 409 345

Application info

AUDI A3 (8P1, 8PA) (05/03-08/12)
SEAT Leon / Toledo / Altea (1P1, 5P2, 5P5) (03/04-05/10)

Wulf Gaertner Autoparts AG - www.meyle.com

MPS6 Powershift
Automatic Transmission, 6-speed
Dual-clutch transmission

714136 0002

FORD Kuga (03/08--)
FORD Kuga Il (01/13--)
FORD Mondeo IV (03/07--)
FORD S-Max (05/06--)

100 498 0247

VW Sharan (7N) (05/10-05/12)
VW Tiguan (09/07-08/09)

100 498 0248

O A5

VW Golf V (1K1, 1K5, 5M1) (10/03-05/09)
VW Touran (1T1, 1T2) (02/03-05/10)

13

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Electrics

New articles September 2016

ABS wheel sensor 11-14 800 0016
Notes
Rear Axle
Operating voltage [V] 12
Hall Sensor
References
CITROEN 454508
4545.L0
PEUGEOT 4545.08
4545.L0

Application info
CITROEN C4 | / Coupe / Grand Picasso / Picasso / Stufenheck (11/04-12/07)  PEUGEOT 307 (08/00-01/05)

CITROEN C4 11/ DS4 (11/09--) PEUGEOT 308 (09/07--)
ABS wheel sensor 114 800 0044
Notes
Rear Axle
Length [mm] 1035
Number of Poles 4 1
Operating voltage [V] 12 I‘_
Required quantity 2
Hall Sensor

not prepared for wear indicator

References

FORD 1207 329
SEAT 7M3 927 807 J
VW 7M3 927 807 J

Application info

FORD Galaxy | (03/95-05/06) VW Sharan (7M) (09/95-03/10)
SEAT Alhambra | (7V8, 7V9) (04/96-03/10)

ABS wheel sensor 114 800 0045
Notes

Front Axle
Number of Poles 2
Operating voltage [V] 12
Required quantity 2

Hall Sensor
References
AUDI WHT 005 651
PORSCHE 958 606 405 01
VW WHT 005 651

Application info

AUDI Q7 (4L) (03/06-05/12) VW Touareg (7P5) (01/10--)
PORSCHE Cayenne Il (06/10--)

Wulf Gaertner Autoparts AG - www.meyle.com 14

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Electrics

New articles September 2016

ABS wheel sensor

Notes

Length [mm]
Operating voltage [V]
Required quantity

References

GENERAL MOTORS
OPEL

Application info
OPEL Astra J (12/09--)

ABS wheel sensor

Notes

Length [mm]
Operating voltage [V]
Required quantity

References

GENERAL MOTORS
OPEL

Application info
OPEL Insignia (07/08--)

ABS wheel sensor

Notes

Length [mm]
Operating voltage [V]
Required quantity

References

GENERAL MOTORS
OPEL

Application info
OPEL Insignia (07/08--)

Wulf Gaertner Autoparts AG - www.meyle.com

Front Axle
930

12

2

Hall Sensor

13359593
1247326

OPEL Cascada (03/13--)

Rear Axle Left
1417

12

2

Hall Sensor

22785575
1247 246

Rear Axle Right
1674

12

2

Hall Sensor

22785576
1247 247

614 800 0028

614 800 0029

614 800 0030

i

15

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Electrics

New articles September 2016

Crank position sensor

Notes

Fitting Depth [mm]
Number of Poles
Operating voltage [V]
Resistance [Ohm]

References

CITROEN
PEUGEOT

Application info

CITROEN AX (07/86-12/98)

CITROEN Berlingo | (07/96-12/07)
CITROEN Berlingo Il (04/08--)

CITROEN C Elyse (11/12--)

CITROEN C2 / C3 1/ Pluriel (02/02-09/05)
CITROEN C3 11 (11/09--)

CITROEN C4 | / Coupe / Grand Picasso / Picasso /
CITROEN Nemo (02/08--)

CITROEN Saxo (02/96-04/04)

CITROEN Xsara (04/97-08/05)

CITROEN Xsara Picasso (12/99-09/06)
PEUGEOT 1007 (04/05--)

Ignition coil

Notes

Number of Poles
Operating voltage [V]
Required quantity

References
MERCEDES-BENZ

Application info

MERCEDES-BENZ BM 164 (M-Class) (07/05-09/09)

MERCEDES-BENZ BM 204 (C-Class) (01/07--)
MERCEDES-BENZ BM 209 (CLK) (06/02-03/10)
MERCEDES-BENZ BM 211 (E-Class) (03/02-07/09)
MERCEDES-BENZ BM 212 (E-Class) (01/09-08/11)

Wulf Gaertner Autoparts AG - www.meyle.com

17,2

2

12

550

Black

Inductive Sensor
without cable

1920.AW
1920.AW
96 37 465 980
96 39 999 880

PEUGEOT 106 (08/91-07/04)
PEUGEOT 205 (02/83-09/98)
PEUGEOT 206 (08/98-03/09)
PEUGEOT 207 (02/06-10/08)
PEUGEOT 301 (11/12--)
PEUGEOT 306 (04/93-04/02)
PEUGEOT 307 (08/00-01/05)
PEUGEOT 308 11 (09/13--)
PEUGEOT Bipper (02/08--)
PEUGEOT Partner | (04/96-10/06)
PEUGEOT Partner Il (04/08--)

Stufenheck (11/04-12/07)

4
12

8

Coupling Type SAE

for fully electronic ignition (FI)
incl. spark plug connector

156 906 05 00

MERCEDES-BENZ BM 216 (S-Class) (05/06--)
MERCEDES-BENZ BM 219 (CLS) (10/04-12/10)
MERCEDES-BENZ BM 221 (S-Class) (10/05-06/09)
MERCEDES-BENZ BM 230 (SL) (10/01-01/12)
MERCEDES-BENZ BM 251 (R-Class) (01/06--)

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

40-14 800 0009

014 8850010

16


http://www.meyle.com

ME )/LE Electrics

New articles September 2016

Ignition coil 11-14 885 0006
Notes

Number of Poles 6

Operating voltage [V] 12

Required quantity 1

Coupling Type SAE
incl. spark plug connector

References
CITROEN 5970.85
PEUGEOT 5970.85

Application info

CITROEN C2/ C3 |/ Pluriel (02/02-09/05) PEUGEOT 206 (08/98-03/09)
CITROEN C4 | / Coupe / Grand Picasso / Picasso / Stufenheck (11/04-12/07)  PEUGEOT 207 (02/06-10/08)
PEUGEOT 1007 (04/05--) PEUGEOT 307 (08/00-01/05)
Sensor, camshaft position 114 800 0033
Notes
Cable Length [mm] 445
Number of Poles 3
Operating voltage [V] 12

Hall Sensor
References
AUDI 03G9571478B
SEAT 03G9571478B

045957 147D
SKODA 03G9571478B

045957 147 D
VW 03G9571478B

045957 147D

076 906 433

Application info

AUDI A3 (8P1, 8PA) (05/03-08/12) VW Crafter (04/06-07/11)

SEAT Alhambra | (7V8, 7V9) (04/96-03/10) VW Eos (03/06-11/10)

SEAT Ibiza IV / Cordoba (02/02-11/09) VW Golf V (1K1, 1K5, 5M1) (10/03-05/09)
SEAT Ibiza V (6J1, 6J5, 6J8) (03/08-06/10) VW Jetta Ill (1K2) (08/05-10/10)

SEAT Leon / Toledo / Altea (1P1, 5P2, 5P5) (03/04-05/10) VW Passat (3C_) (03/05-10/11)

SKODA Fabia Il (12/06--) VW Polo (9N_) (10/01-11/09)

SKODA Octavia Il (1Z_) (02/04-12/10) VW Sharan (7M) (09/95-03/10)

SKODA Roomster (03/06-03/10) VW Touran (1T1, 1T2) (02/03-05/10)
SKODA Superb 11 (3T) (03/08-11/10) VW Transporter V (04/03-11/09)

VW Caddy IIl (2KA, 2KB) (03/04-08/10)

Wulf Gaertner Autoparts AG - www.meyle.com 17

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Engine/Cooling/Clutch

New articles September 2016

Air filter 18-12 321 0000

Notes

Height [mm] 57
Length [mm] 450
Width [mm] 89
Filter Insert

References
JAGUAR (2536774

Application info
JAGUAR X-Type (06/01-12/09)

Breather valve 314036 0014

Notes

with seal

References
BMW 11127793163

Application info

BMW 3 (E46) (02/98-12/07) BMW X5 (E53) (05/00--)

BMW 5 (E39) (11/95-05/04) LAND ROVER Freelander | (02/98-10/06)
BMW 7 (E38) (10/94-11/01) LAND ROVER Range Rover Il (03/02-08/12)

Wulf Gaertner Autoparts AG - www.meyle.com 18

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

Engine/Cooling/Clutch

MEYLE

New articles September 2016

Crankshaft seal 100 103 1000
Notes .
Transmission End
Inner diameter [mm] 85
Outer diameter [mm] 131
Left-hand Twist
PTFE (polytetrafluoroethylene)
Synthetic Material Housing
with mounting sleeve
References
AUDI 03L 103171
SEAT 03L 103171
SKODA 03L 103171
VW 03L 103171

Application info

AUDI A1 (8X1, 8XA) (05/10--)

AUDI A3 (8P1, 8PA) (05/03-08/12)

AUDI A4 (8K2, 8K5, 8KH) (11/07--)

AUDI A5 (8F, 8T) (06/07--)

AUDI A6 (4F2, 4FH, 4F5) (05/04-08/11)
AUDI A6 (4G2, 4G5, C7) (11/10-05/13)
AUDI Q3 (8U) (06/11--)

AUDI Q5 (8R) (11/08--)

AUDITT (8J3, 8J9) (08/06-06/10)

SEAT Alhambra Il (710) (06/10-05/11)
SEAT Exeo (3R) (12/08-09/10)

SEAT Ibiza V (6J1, 6J5, 6J8) (03/08-06/10)
SEAT Leon / Toledo / Altea (1P1, 5P2, 5P5) (03/04-05/10)
SEAT TOLEDO IV (KG3) (07/12--)

SKODA Fabia Il (12/06--)

SKODA Octavia Il (1Z_) (02/04-12/10)
SKODA Rapid Il (NH) (07/12--)

SKODA Roomster (03/06-03/10)

SKODA Superb Il (3T) (03/08-11/10)

Wulf Gaertner Autoparts AG - www.meyle.com

SKODA Yeti (5L) (05/09--)

VW Amarok (09/10--)

VW Beetle (5C1) (04/11--)

VW Caddy Il (2KA, 2KB) (03/04-08/10)
VW CC(11/11--)

VW Crafter (04/06-07/11)

VW Eos (03/06-11/10)

VW Golf V (1K1, 1K5, 5M1) (10/03-05/09)
VW Golf VI (5K1, 517, AJ5) (10/08-11/13)
VW Jetta Ill (1K2) (08/05-10/10)

VW Jetta IV (162) (04/10--)

VW Passat (362, 365) (08/10--)

VW Passat (3C_) (03/05-10/11)

VW Polo (6R_) (06/09-01/11)

VW Scirocco (137) (05/08-05/11)

VW Sharan (7N) (05/10-05/12)

VW Tiguan (09/07-08/09)

VW Touran (1T3) (05/10-01/13)

VW Transporter V (04/03-11/09)

19

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Engine/Cooling/Clutch

New articles September 2016

Crankshaft seal
Notes
Transmission End
Inner diameter [mm] 85
Outer diameter [mm)] 164
Left-hand Twist
Metal Housing
Sheet Steel
without mounting sleeve
References
AUDI 06H 103171 F
SEAT 06H 103171 F
SKODA 06H103171F
VW 06H 103171 F

Application info

AUDI A3 (8P1, 8PA) (05/03-08/12)
AUDI A4 (8K2, 8K5, 8KH) (11/07--)
AUDI A5 (8F, 8T) (06/07--)

AUDI A6 (4G2, 4G5, C7) (11/10-05/13)
AUDI A8 (4H_) (11/09--)

AUDI Q3 (8V) (06/11--)

AUDI Q5 (8R) (11/08--)

AUDITT (8J3, 8J9) (08/06-06/10)
SEAT Alhambra Il (710) (06/10-05/11)
SEAT Exeo (3R) (12/08-09/10)

SEAT Leon / Toledo / Altea (1P1, 5P2, 5P5) (03/04-05/10)
SKODA Octavia Il (1Z_) (02/04-12/10)
SKODA Superb Il (3T) (03/08-11/10)
SKODA Yeti (5L) (05/09--)

Wulf Gaertner Autoparts AG - www.meyle.com

100 103 1005

VW Amarok (09/10--)

VW Beetle (5C1) (04/11--)

VW CC(11/11-)

VW Eos (03/06-11/10)

VW Golf V (1K1, 1K5, 5M1) (10/03-05/09)
VW Golf VI (5K1, 517, AJ5) (10/08-11/13)
VW Jetta Ill (1K2) (08/05-10/10)

VW Jetta IV (162) (04/10--)

VW Passat (362, 365) (08/10--)

VW Passat (3C_) (03/05-10/11)

VW Scirocco (137) (05/08-05/11)

VW Sharan (7N) (05/10-05/12)

VW Tiguan (09/07-08/09)

VW Transporter V (04/03-11/09)

20

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

Engine/Cooling/Clutch

MEYLE

New articles September 2016

Crankshaft seal 100 103 1008
Notes .
Transmission End
Inner diameter [mm] 85
Outer diameter [mm] 101
Left-hand Twist
PTFE (polytetrafluoroethylene)
Synthetic Material Housing
with mounting sleeve
References
AUDI 038103171S
MITSUBISHI MN980012
SEAT 038103171S
SKODA 038103171S
VW 038103171S
Application info

AUDI A3 (8P1, 8PA) (05/03-08/12)

AUDI A4 (8EC, 8ED) (11/04-06/08)

AUDI A6 (4F2, 4FH, 4F5) (05/04-08/11)
MITSUBISHI Grandis (04/04--)

MITSUBISHI Lancer VIII (01/08--)

MITSUBISHI Outlander 11 (11/06-11/12)

SEAT Alhambra | (7V8, 7V9) (04/96-03/10)
SEAT Arosa (6H) (05/97-06/04)

SEAT Ibiza Il / Il / Cordoba / Inca (02/93-06/03)
SKODA Octavia | (1U_) (09/96-12/10)

Crankshaft seal

Notes
Transmission End
Inner diameter [mm] 85
Outer diameter [mm] 111
Left-hand Twist
PTFE (polytetrafluoroethylene)
Synthetic Material Housing
with mounting sleeve
References
AUDI 030103171S
SEAT 030103171S
SKODA 030103171S
VW 030103171S

Application info

AUDI A3 (8P1, 8PA) (05/03-08/12)

SEAT Leon / Toledo / Altea (1P1, 5P2, 5P5) (03/04-05/10)
SKODA Fabia | (08/99-03/08)

SKODA Octavia ll (1Z_) (02/04-12/10)

SKODA Roomster (03/06-03/10)

VW Caddy Il (2KA, 2KB) (03/04-08/10)

Wulf Gaertner Autoparts AG - www.meyle.com

VW Caddy Il (2KA, 2KB) (03/04-08/10)
VW Eos (03/06-11/10)

VW Golf V (1K1, 1K5, 5M1) (10/03-05/09)
VW Jetta Ill (1K2) (08/05-10/10)

VW Passat (3C_) (03/05-10/11)

VW Polo (9N_) (10/01-11/09)

VW Sharan (7M) (09/95-03/10)

VW Touran (1T1, 1T2) (02/03-05/10)

VW Transporter V (04/03-11/09)

100 103 1009

VW Eos (03/06-11/10)

VW Golf V (1K1, 1K5, 5M1) (10/03-05/09)
VW Golf VI (5K1, 517, AJ5) (10/08-11/13)
VW Jetta Ill (1K2) (08/05-10/10)

VW Passat (3C_) (03/05-10/11)

VW Touran (1T1, 1T2) (02/03-05/10)

21

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Engine/Cooling/Clutch

New articles September 2016

Engine mount

Notes

References
MERCEDES-BENZ

Application info
MERCEDES-BENZ BM 204 (C-Class) (01/07--)

Engine mount

Notes

References
MERCEDES-BENZ

Application info
MERCEDES-BENZ BM 204 (C-Class) (01/07--)

Engine mount

Notes

References
MERCEDES-BENZ

Application info

014 024 0142

Left
Electronically controlled hydro mount
with cap

204 2403617

MERCEDES-BENZ BM 204 (GLK-Class) (06/08-04/11)

014024 0144

Right
Electronically controlled hydro mount
with cap

204 2403717

MERCEDES-BENZ BM 204 (GLK-Class) (06/08-04/11)

014 024 0160

Hydro Bearing
with protective cap/bellow

2112401617
2112401817

MERCEDES-BENZ BM 211 (E-Class) (03/02-07/09)

Wulf Gaertner Autoparts AG - www.meyle.com 22

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Engine/Cooling/Clutch

New articles September 2016

Engine mount 014 024 0166

Notes

Left
Electronically controlled hydro mount

References
MERCEDES-BENZ 2122403017

Application info

MERCEDES-BENZ BM 212 (E-Class) (01/09-08/11) MERCEDES-BENZ BM 218 (CLS) (10/12--)
MERCEDES-BENZ BM 218 (CLS) (01/11--)

Engine mount 014 024 0167

Notes

Right
Electronically controlled hydro mount

References
MERCEDES-BENZ 2122403117

Application info

MERCEDES-BENZ BM 212 (E-Class) (01/09-08/11) MERCEDES-BENZ BM 218 (CLS) (10/12--)
MERCEDES-BENZ BM 218 (CLS) (01/11--)

Engine mount 0140240168

Notes

Hydro Bearing
with protective cap/bellow

References
MERCEDES-BENZ 2122403217

Application info

MERCEDES-BENZ BM 212 (E-Class) (01/09-08/11) MERCEDES-BENZ BM 218 (CLS) (10/12--)
MERCEDES-BENZ BM 218 (CLS) (01/11--) MERCEDES-BENZ (BBDC) E-CLASS (W212) (06/10--)

Wulf Gaertner Autoparts AG - www.meyle.com 23

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Engine/Cooling/Clutch

New articles September 2016

Engine mount 014 0240169

Notes

Hydro Bearing
with protective cap/bellow

References
MERCEDES-BENZ 2122403317

Application info

MERCEDES-BENZ BM 212 (E-Class) (01/09-08/11) MERCEDES-BENZ BM 218 (CLS) (10/12--)
MERCEDES-BENZ BM 218 (CLS) (01/11--)

Engine mount 014 024 2041

Notes

Hydro Bearing
with protective cap/bellow

References
MERCEDES-BENZ 2042403517

Application info

MERCEDES-BENZ BM 204 (C-Class) (01/07--) MERCEDES-BENZ BM 207 (E-Class) (01/09--)
MERCEDES-BENZ BM 204 (GLK-Class) (06/08-04/11)

Engine mount 014 024 2046

Notes

Electronically controlled hydro mount
with protective cap/bellow

References
MERCEDES-BENZ 2042403817

Application info
MERCEDES-BENZ BM 204 (C-Class) (01/07--)

Wulf Gaertner Autoparts AG - www.meyle.com 24

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Engine/Cooling/Clutch

New articles September 2016

Engine mount 014 024 2047
Notes
Electronically controlled hydro mount
with protective cap/bellow
References
MERCEDES-BENZ 2042403917

Application info
MERCEDES-BENZ BM 204 (C-Class) (01/07--)

Engine mount 014 024 2060
Notes
Left and right
Hydro Bearing
References
MERCEDES-BENZ 2122407217
MERCEDES-BENZ (BBDC) 2122407217
Application info
MERCEDES-BENZ BM 212 (E-Class) (01/09-08/11) MERCEDES-BENZ (BBDC) E-CLASS (W212) (06/10--)
Engine mount 014 024 2083
Notes
Left
Hydro Bearing
with protective cap/bellow
References
MERCEDES-BENZ 2202401717

Application info
MERCEDES-BENZ BM 220 (5-Class) (10/98-08/05)

Wulf Gaertner Autoparts AG - www.meyle.com 25

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Engine/Cooling/Clutch

New articles September 2016

Intake hose, turbo charger

Notes

Left
References
MERCEDES-BENZ 906 528 37 82

Application info
MERCEDES-BENZ BM 906 (Sprinter Il) (06/06--)

Intake hose, turbo charger

Notes

References

AUDI 1J0 145834 A
SEAT 1J0 145834 A
SKODA 1J0 145834 A
VW 1J0 145834 A
Application info

AUDI A3 (8L1) (09/96-05/03)

AUDI TT (8N3, 8N9) (10/98-06/06)

SEAT Ibiza Il / Il / Cordoba / Inca (02/93-06/03)

SEAT Leon / Toledo (1M1, 1M2) (04/99-06/06)

SEAT Leon / Toledo / Altea (1P1, 5P2, 5P5) (03/04-05/10)
SKODA Octavia | (1U_) (09/96-12/10)

Intake hose, turbo charger

Notes

References

AUDI 8D0 145 828 G
VW 8D0 145 828 G

Application info
AUDI A4 (8D2, 8D5, B5) (11/94-09/01)

Wulf Gaertner Autoparts AG - www.meyle.com

014 036 0018

100 036 0038

VW Bora (1J2, 1J6) (10/98-05/05)

VW Caddy Il (9K9, 9K9B, 9U7) (11/95-01/04)
VW Golf IV (1J1, 1J5) (08/97-06/06)

VW New Beetle (1Y7,9C1, 1C1) (01/98-10/10)
VW Polo (6K_) (11/95-07/02)

100 036 0040

VW Passat (3B_) (08/96-08/05)

26

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Engine/Cooling/Clutch

New articles September 2016

Intake hose, turbo charger 100 036 0042

Notes

References

SEAT 6Q0 145 828 P
SKODA 6Q0 145 828 P
VW 6Q0 145 828 P

Application info

SEAT lbiza IV / Cordoba (02/02-11/09) SKODA Roomster (03/06-03/10)

SKODA Fabia | (08/99-03/08) VW Fox/Lupo Z51 (10/03--)

SKODA Fabia Il (12/06--) VW Polo (9N_) (10/01-11/09)

Suction hose, air filter 11-14 036 0000
Notes

References

CITROEN 1434.F6
FORD 1670802
PEUGEOT 1434.F6

Application info

CITROEN C1 (06/05--) PEUGEOT 1007 (04/05--)
CITROEN C2/ C3 I/ Pluriel (02/02-09/05) PEUGEOT 107 (06/05--)
CITROEN C3 11 (11/09--) PEUGEQT 206 (08/98-03/09)
CITROEN Xsara (04/97-08/05) PEUGEOT 207 (02/06-10/08)
FORD Fiesta V / Fusion (11/01-06/08) PEUGEOT 307 (08/00-01/05)

FORD Fiesta VI (06/08--)

Wulf Gaertner Autoparts AG - www.meyle.com 27

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Engine/Cooling/Clutch

New articles September 2016

Suction hose, air filter

Notes

References

CITROEN 1434.C8
PEUGEOT 1434.C8

Application info

CITROEN Berlingo | (07/96-12/07)
CITROEN Berlingo Il (04/08--)

CITROEN C2 / C3 1/ Pluriel (02/02-09/05)
CITROEN C3 11 (11/09--)

CITROEN C3 Picasso (02/09--)

CITROEN C4 | / Coupe / Grand Picasso / Picasso / Stufenheck (11/04-12/07)
CITROEN C5 1/ C5 11 (03/01-04/07)
CITROEN C5 Il (RD_, TD_) (02/08--)
CITROEN Jumpy 11 (01/07--)

CITROEN Xsara Picasso (12/99-09/06)
PEUGEOT 1007 (04/05--)

Water pump

Notes

Quality Sealed with SiC/SiC
for v-ribbed belt use
with seal

References

MERCEDES-BENZ 6512002301

MERCEDES-BENZ (BBDC) 6512002301

Application info

MERCEDES-BENZ BM 906 (Sprinter II) (06/06--)

Water pump

Notes

Number of Ribs 3

Quality Sealed with SiC/SiC
for v-ribbed belt use
with seal

References

CITROEN 9803442480

PEUGEOT 9803442480

Application info

CITROEN C Elyse (11/12--)
CITROEN C1 11 (04/14--)
CITROEN C3 11 (11/09-)
CITROEN C4 Cactus (09/14--)
CITROEN DS3 (11/09--)

Wulf Gaertner Autoparts AG - www.meyle.com

11-14 036 0001

PEUGEOT 206 (08/98-03/09)
PEUGEOT 207 (02/06-10/08)
PEUGEOT 3008 (06/09--)
PEUGEOT 307 (08/00-01/05)
PEUGEOT 308 (09/07--)
PEUGEOT 407 (05/04-12/09)
PEUGEOT 5008 (06/09--)
PEUGEOT Expert Il (01/07--)
PEUGEOT Partner | (04/96-10/06)
PEUGEOT Partner Il (04/08--)

013 220 0022

11-13 220 0026

/|

PEUGEOT 108 (05/14--)
PEUGEOT 2008 (03/13--)
PEUGEOT 208 (03/12--)
PEUGEOT 301 (11/12-)
PEUGEOT 308 11 (09/13--)

28

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Engine/Cooling/Clutch

New articles September 2016

Water pump

Notes
Quality

References

AUDI
AUDI (FAW)

Application info

AUDI A4 (8K2, 8K5, 8KH) (11/07--)
AUDI A5 (8F, 8T) (06/07--)

AUDI A6 (4F2, 4FH, 4F5) (05/04-08/11)
AUDI A8 (4E) (10/02-07/10)

Water pump

Notes
Quality

References
PORSCHE

Application info
PORSCHE Cayenne | (955) (09/02--)

Wulf Gaertner Autoparts AG - www.meyle.com

113 220 0017/HD

Sealed with SiC/SiC
with seal

06E 121018 B
06E 121 018 B

AUDI Q5 (8R) (11/08--)
AUDI (FAW) A4L (B8) (12/07-09/08)
AUDI (FAW) A6L (C6) (03/05-12/11)

(0) 413220 0002/HD

Sealed with SiC/SiC
with seal

948 106 011 04

29

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles September 2016

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

MERCEDES-BENZ
MERCEDES-BENZ (BBDC)

Application info

MERCEDES-BENZ BM 205 (C-Class) (12/13-)
MERCEDES-BENZ BM 205 (C-Class) (10/15--)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
MERCEDES-BENZ

Application info
MERCEDES-BENZ BM 171 (SLK) (03/04-02/11)

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References

CITROEN
PEUGEOT

Application info
CITROEN C2/ C3 1/ Pluriel (02/02-09/05)

Wulf Gaertner Autoparts AG - www.meyle.com

Front Axle Left
Front Axle Right
245

M16X1,5
M14X1,5

205 460 08 05
205 460 08 05

Front Axle Left
Front Axle Right
265

M16x1,5
M14x1,5

17133800 15

Front Axle Left
Front Axle Right
235

M12x1

M14x1,5

3812.E1
3812.E1

016 031 0018

MERCEDES-BENZ (BBDC) C-CLASS (W205) (08/14--)

(0) 016 031 0020/HD

* .r[ "

(0) 11-16 031 0011/HD

T ——
A iy U e W

PEUGEOT 1007 (04/05--)

30

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles September 2016

Axial rod (0) 11-16 031 0013/HD
Notes

Front Axle Left

Front Axle Right
Length [mm] 345
Thread Measurement 1 M14x1,5 &:&mﬁ — S
Thread Measurement 2 M14x1,5
References
CITROEN 3812.F1
MITSUBISHI 4422A012
PEUGEOT 3812.F1
Application info
CITROEN C-Crosser (02/07--) MITSUBISHI Outlander 11 (11/06-11/12)
MITSUBISHI Lancer VIII (01/08--) PEUGEOT 4007 (02/07--)
Axial rod 116 031 0018/HD
Notes

Front Axle Left

Front Axle Right
Length [mm] 305
Thread Measurement 1 M14x1,5 &_ R =N |

d i e S——pp— = — :m

Thread Measurement 2 M14x1,5 iy my iy

for vehicles without power steering

References
SKODA 6Q0 419 803 F*
6Q0 419 804 F*
VW 6Q0 419 803 F*
6Q0 419 804 F*
Application info
SKODA Fabia | (08/99-03/08) VW Polo (9N_) (10/01-11/09)
VW Fox/Lupo Z51 (10/03--)
Axial rod (H0) 16-16 031 0034/HD
Notes
Front Axle Left
Front Axle Right
Length [mm] 320
Thread Measurement 1 M12x1 qﬁfﬂﬁ**n_"_"—‘:—'ﬁ_
Thread Measurement 2 M14x1,5 @
References
RENAULT 7701473498
Application info
RENAULT Twingo | (03/93-08/00)
Wulf Gaertner Autoparts AG - www.meyle.com 31

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles September 2016

Axial rod
Notes
Front Axle Left
Front Axle Right
Length [mm] 190
Thread Measurement 1 M14x1,5
Thread Measurement 2 M14x1,5
References
DACIA 485213172R
Application info
DACIA Dokker (11/12--)
DACIA Lodgy (06/10--)
DACIA Logan I (10/12--)
DACIA Sandero I1 (01/13--)
Axial rod
Notes
Front Axle Left
Front Axle Right
Length [mm] 162
Thread Measurement 1 M16x1,5
Thread Measurement 2 M14x1,5
References
HYUNDAI 56540-2H000
KIA 56540 2H000
Application info
HYUNDAI Elantra | (06/00-07/06)
HYUNDAI Elantra IV (11/05-12/11)
HYUNDAI'i30 (10/07-06/12)
Axial rod
Notes
Front Axle Left
Front Axle Right
Length [mm] 247
Thread Measurement 1 14x1,5
Thread Measurement 2 15x1,5
References
LEXUS 45503 39275
TOYOTA 45503 39275
Application info

LEXUS ES (MCV, VZV) I, IV (10/96-06/12)
TOYOTA Camry (V30) (08/01-11/06)

Wulf Gaertner Autoparts AG - www.meyle.com

(0) 16-16 031 0040/HD

RENAULT Clio Il / Thalia (02/98-02/10)
RENAULT Logan I (11/13--)

RENAULT Sandero/Stepway Il (11/13--)
RENAULT Thalia Ill (07/14--)

() 28-16 031 0024/HD

KIA Cee'd | (12/06-12/09)
KIA Cerato Il (01/09--)

(h0) 30-16 031 0030/HD

2
y

-

TOYOTA Camry (XV40) (01/06-09/11)

32

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles September 2016

Axial rod

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
HONDA

Application info
HONDA CR-V 1 (10/95-02/02)

Tierod end

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References
MERCEDES-BENZ

Application info
MERCEDES-BENZ BM 216 (S-Class) (05/06--)

Tierod end

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References
MERCEDES-BENZ

Application info

Front Axle Left
Front Axle Right
202

M12x1,25

M14 x1,25

53010-510-000

Front Axle Left
227

016 020 0048
M14x1,5
M14x1,5

2213301903
2213303303

Front Axle Right
227

016 020 0047
M14x1,5
M14x1,5

2213302003
2213303403

(0) 31-16 031 0010/HD

016 020 0047

MERCEDES-BENZ BM 221 (S-Class) (10/05-06/09)

016 020 0048

MERCEDES-BENZ BM 216 (S-Class) (05/06--) MERCEDES-BENZ BM 221 (S-Class) (10/05-06/09)

Wulf Gaertner Autoparts AG - www.meyle.com 33

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Steering

New articles September 2016

Tierod end

Notes

Front Axle Right
Length [mm] 210
Paired article numbers 016 020 0057
Thread Measurement 1 M14x1,5
Thread Measurement 2 M14x1,5

References
MERCEDES-BENZ

Application info

MERCEDES-BENZ BM 212 (E-Class) (01/09-08/11)

Tierod end

for vehicles with hydraulic power steering

2123301403

Notes

Front Axle Left
Length [mm] 212
Paired article numbers 016 020 0056
Thread Measurement 1 M14x1,5
Thread Measurement 2 M14x1,5

References
MERCEDES-BENZ

Application info

MERCEDES-BENZ BM 212 (E-Class) (01/09-08/11)

Wulf Gaertner Autoparts AG - www.meyle.com

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

for vehicles with hydraulic power steering

2123301303

016 020 0056

016 020 0057

34


http://www.meyle.com

MEYLE

Steering

New articles September 2016

Tierod end

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2
References

SEAT
SKODA

SKODA (SVW)
VW

VW (FAW)
VW (SVW)

Application info

SEAT Ibiza IV / Cordoba (02/02-11/09)
SEAT Ibiza V (6J1, 6J5, 6J8) (03/08-06/10)
SEAT TOLEDO IV (KG3) (07/12--)

SKODA Fabia | (08/99-03/08)

SKODA Fabia Il (12/06--)

SKODA Rapid Il (NH) (07/12--)

SKODA Roomster (03/06-03/10)

SKODA (SVW ) Fabia (12/08--)

Tierod end

Notes

Length [mm]
Thread Measurement 1
Thread Measurement 2

References
BMW

Application info
BMW X5 (E70) (02/07-03/10)

Wulf Gaertner Autoparts AG - www.meyle.com

Reinforced Version
Front Axle Left

94

116 020 0040/HD
M12x1,5

M14x1,5

6Q0423811C
6R0 423 811
6Q0423811C
6R0 423811
6R0 423811
6Q0423811C
6R0 423811
6Q0423811C
6R0 423 811

Reinforced Version
Front Axle Left
Front Axle Right
185

M14X1,5

M14X1,5

32106793497

116 020 0041/HD

SKODA (SVW) Rapid (Na2) (04/13--)
VW Fox/Lupo Z51 (10/03--)

VW Polo (6R_) (06/09-01/11)

VW Polo (9N_) (10/01-11/09)

VW (FAW) Jetta Night (03/13--)

VW (SVW) New Polo (06/06-03/12)
VW (SVW) Polo (01/02-03/06)

VW (SVW) Santana lll (12/12--)

(0) 316 020 0020/HD

BMW X6 (E71) (05/08--)

35

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Steering

New articles September 2016

Tierod end

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References
VOLVO

Application info

VOLVO S601/V70 11 (03/00-04/10)
Tierod end

Notes

Length [mm]

Paired article numbers

Thread Measurement 1
Thread Measurement 2

References
VOLVO

Application info
VOLVO S60 | / V70 11 (03/00-04/10)

Wulf Gaertner Autoparts AG - www.meyle.com

Reinforced Version
Front Axle Left

230

516 020 0019/HD
M12x1,75

M14x1,5

with right-hand thread

30761719

VOLVO S80 | (05/98-07/06)

Reinforced Version
Front Axle Right

230

516 020 0018/HD
M12x1,75

M14x1,5

with right-hand thread

30761718

VOLVO S80 1 (05/98-07/06)

0) 516020 0018/HD

(0) 516020 0019/HD
4,

36

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/ILE Suspension

New articles September 2016

Ball joint 16-16 010 0004/S
Notes
Front Axle Left
Front Axle Right
Lower
Cone Size [mm] 18
Outer diameter [mm] 38

with add-on material

References
DACIA 401604793R
RENAULT 401604793R

Application info

DACIA Logan (09/04--) RENAULT Mégane I (11/02-01/11)
DACIA Pick up RENAULT Sandero (12/07--)
DACIA Sandero (06/08--) RENAULT Scénic Il (06/03-04/09)
RENAULT Clio Ill / Modus (09/04-08/10) RENAULT Twizy (04/12--)
RENAULT Logan (09/04--)
Control arm 116 050 0143/HD
Notes

Reinforced Version

Rear Axle Left
Paired article numbers 116 050 0144/HD

Sheet Steel

Trailing Arm

with add-on material
with rubber mounting

References
AUDI 3C0505223D
SEAT 3C0505223C
VW 3C0505223C
3C0505223E
3C0505223F
Application info
AUDI Q3 (8U) (06/11--) VW Passat (3C_) (03/05-10/11)
SEAT Alhambra Il (710) (06/10-05/11) VW Sharan (7N) (05/10-05/12)
VW CC(11/11-) VW Tiguan (09/07-08/09)
VW Passat (362, 365) (08/10--)
Wulf Gaertner Autoparts AG - www.meyle.com 37

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Suspension

New articles September 2016

Control arm

Notes

Paired article numbers

References

AUDI
SEAT
VW

Application info

AUDI Q3 (8U) (06/11--)

SEAT Alhambra 11 (710) (06/10-05/11)
VW CC(11/11-)

VW Passat (362, 365) (08/10--)

Control arm

Notes

Paired article numbers

References
FIAT

Application info
FIAT Doblo (119, 223) (03/01-01/10)

Wulf Gaertner Autoparts AG - www.meyle.com

Reinforced Version
Rear Axle Right

116 050 0143/HD
Sheet Steel

Trailing Arm

with add-on material
with rubber mounting

3C0505224D
3C0505224C
3C0505224C
3C0505224E
3C0505224F

Front Axle Right

216 050 0063

Control Arm

Sheet Steel

with ball joint

with rubber mounting

51772988

116 050 0144/HD

VW Passat (3C_) (03/05-10/11)
VW Sharan (7N) (05/10-05/12)
VW Tiguan (09/07-08/09)

216 050 0062

38

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Suspension

New articles September 2016

Control arm

Notes
Front Axle Left
Paired article numbers 216 050 0062
Control Arm
Sheet Steel
with ball joint
with rubber mounting
References
FIAT 51772992

Application info

FIAT Doblo (119, 223) (03/01-01/10)

216 050 0063

Control arm 316 050 0099
Notes
Rear Axle Left
Rear Axle Right
Aluminium
Control Arm
with rubber mounting
References
BMW 33326779851
Application info
BMW 5 (FO7) (10/09-12/10) BMW 5 (F10, F11) (03/10-12/11)
Control arm 516 050 0032
Notes
Front Axle Right
Lower
Paired article numbers 516 050 0033
Aluminium
Control Arm

References
VOLVO

Application info

with rubber mounting

30635230

VOLVO S60 |/ V70 Il (03/00-04/10)

Wulf Gaertner Autoparts AG - www.meyle.com 39

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/ILE Suspension

New articles September 2016

Control arm 516 050 0033
Notes (O

Front Axle Left

Lower
Paired article numbers 516 050 0032

Aluminium

Control Arm

with rubber mounting

References
VOLVO 30635229

Application info
VOLVO S60 | / V70 11 (03/00-04/10)

Control arm set 116 050 0190/S
Notes

Full Set

Front Axle Left

Front Axle Right

with accessories

References VL\“q ;J

AUDI 7L0407 021 A 1 =
7L8 407 151K I s / /a// L,
7L8 407 152K Jgf‘{a%a/s/a/&/ﬁ a//a'r/' aé//}-f

o0 ceDoes - e cc@os ¥
7P0 407 151 C

7P0407 151 E
7P0407 152 C
7P0407 152 E

Application info
AUDI Q7 (4L) (03/06-05/12)

Wulf Gaertner Autoparts AG - www.meyle.com 40

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Suspension

New articles September 2016

Control arm set

Notes

References
AUDI

PORSCHE

VW

Application info

AUDI Q7 (4L) (03/06-05/12)
PORSCHE Cayenne I (06/10--)

Control arm set

Notes

References
AUDI

PORSCHE

VW

Application info
AUDI Q7 (4L) (03/06-05/12)

116 050 0191/S

Full Set

Front Axle Left
Front Axle Right
with accessories

7L8 407 021 ~Sy

7L8 407 151 K

718407 152 K fa///a/;/«’-\ fa/s{/?Jm
20 @ e @ -1- K- N1

7P0407 151 C

7P0 407 151 E

7P0407 152 C

7P0407 152 E

958 341 051 00

958 341 053 00

958 341 054 00

7P0 407 021

7P0407 151 E

7P0407 152 E

VW Touareg (7P5) (01/10--)

116 050 0194/HD

Full Set

Reinforced Version
Front Axle Left
Front Axle Right
with accessories

7L0 407 151K

700407 152K ﬁy;/@“d /,/&//&;A
7L0407 021 A 60 6@ o0 @ e @ oo
7L0411317

955341017 61

95534101861

95534102701

955 343 069 00

7L0 407 151K

7L0 407 152K

7L0 4070218

7L0411317

VW Touareg (7LA, 7L6, 7L7) (10/02-05/10)

PORSCHE Cayenne | (955) (09/02--)

Wulf Gaertner Autoparts AG - www.meyle.com 41

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Suspension

New articles September 2016

Mount, control arm

Notes

Height [mm]
Inner diameter [mm]

References
GENERAL MOTORS

OPEL

VAUXHALL

Application info

OPEL Ampera (11/11--)
OPEL Astra J (12/09--)
VAUXHALL Ampera (03/12--)

Rod/strut, suspension

Notes

Length [mm]
Paired article numbers

References

BMW
BMW (BRILLIANCE)

Application info

BMW 1 (F20, F21) (11/10--)
BMW 2 (F22,F23) (10/13--)
BMW 3 (F30, F31) (10/11-)

Wulf Gaertner Autoparts AG - www.meyle.com

Front Axle Left

Front Axle Right

64

23

Hydro Bearing

with add-on material

13334021
20835938
352491
352494
352491
352494

Front

Rear Axle Right

Upper

245

316 035 0014/S

Guide Rod

with accessories

with rubber mounting

33326792540
33326792540

614610 0020

VAUXHALL Astra Mk V (01/04-11/11)
VAUXHALL Astra Mk VI (12/09--)

316 035 0013/S

BMW 3 (F34) (03/13--)
BMW 4 (F32, F33, F36) (07/13-)
BMW (BRILLIANCE) 3 Series (F30) (07/12--)

42

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/LE Suspension

New articles September 2016

Rod/strut, suspension 316 035 0014/S
Notes
Front
Rear Axle Left
Upper
Length [mm] 245
Paired article numbers 316 035 0013/S
Guide Rod

with accessories
with rubber mounting

References
BMW 33326792539
BMW (BRILLIANCE) 33326792539

Application info

BMW 1 (F20, F21) (11/10--) BMW 3 (F34) (03/13--)
BMW 2 (F22,F23) (10/13--) BMW 4 (F32, F33, F36) (07/13--)
BMW 3 (F30, F31) (10/11--) BMW (BRILLIANCE) 3 Series (F30) (07/12--)
Rod/strut, suspension 316 035 0015/S
Notes
Rear
Rear Axle Right
Upper
Length [mm] 290
Paired article numbers 316 035 0016/S 5
Guide Rod /f
with accessories (@) {g L=
with rubber mounting ' "
References
BMW 33326792544
BMW (BRILLIANCE) 33326792544
Application info
BMW 1 (F20, F21) (11/10--) BMW 3 (F34) (03/13--)
BMW 2 (F22,F23) (10/13--) BMW 4 (F32, F33, F36) (07/13--)
BMW 3 (F30, F31) (10/11--) BMW (BRILLIANCE) 3 Series (F30) (07/12--)
Wulf Gaertner Autoparts AG - www.meyle.com 43

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/ILE Suspension

New articles September 2016

Rod/strut, suspension 316 035 0016/S
Notes
Rear
Rear Axle Left
Upper
Length [mm] 290
Paired article numbers 316 035 0015/S
Guide Rod

with accessories
with rubber mounting

References
BMW 33326792543
BMW (BRILLIANCE) 33326792543

Application info

BMW 1 (F20, F21) (11/10--) BMW 3 (F34) (03/13--)
BMW 2 (F22,F23) (10/13--) BMW 4 (F32, F33, F36) (07/13--)
BMW 3 (F30, F31) (10/11--) BMW (BRILLIANCE) 3 Series (F30) (07/12--)
Shock absorber 16-26 623 0013
Notes
Front Axle

Gas Pressure
Suspension Strut

Twin-Tube
References
DACIA 8200813791
Application info
DACIA Duster (04/10--)
Shock absorber 16-26 725 0015
Notes
Rear Axle
Bottom eye
Gas Pressure
Top pin
Twin-Tube
References
RENAULT 8200661700
Application info
RENAULT Twingo Il / Wind (03/07--)
Wulf Gaertner Autoparts AG - www.meyle.com 44

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/ILE Suspension

New articles September 2016

Shock absorber 2267250012
Notes
Rear Axle
Length 1 [mm] 315
Length 2 [mm] 476
Bottom eye
Gas Pressure
Top eye
Twin-Tube
References
CITROEN 5206.VT
FIAT 1356966080
PEUGEOT 5206.VT

Application info

CITROEN Jumper Il (04/06--) PEUGEOT Boxer Il (04/06--)
FIAT Ducato (250) (07/06--)

Shock absorber 226725 0013
Notes
Rear Axle
Length 1 [mm] 293
Length 2 [mm] 444
Bottom eye
Gas Pressure
Top eye
Twin-Tube
References
CITROEN 5206.VH
FIAT 1362577080
PEUGEOT 5206.VH

Application info

CITROEN Jumper lIl (04/06--) PEUGEOT Boxer IlI (04/06--)
FIAT Ducato (250) (07/06--)

Shock absorber 40-26 725 0010
Notes
Rear Axle
Bottom eye
Gas Pressure
Top eye
Twin-Tube
References
CITROEN 5206.RE
PEUGEOT 5206.RE
Application info

CITROEN C4 | / Coupe / Grand Picasso / Picasso / Stufenheck (11/04-12/07)  PEUGEOT 5008 (06/09--)
CITROEN DS5 (11/11--)

Wulf Gaertner Autoparts AG - www.meyle.com 45

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

MEYLE

Suspension

New articles September 2016

Stabilizer link

Notes

References

AUDI
AUDI (FAW)

Application info

AUDI A4 (8K2, 8K5, 8KH) (11/07--)
AUDI A4 (8W2,8W5 B9) (05/15--)

AUDI A5 (8F, 8T) (06/07--)

AUDI A6 (4G2, 4G5, C7) (11/10-05/13)

Stabilizer link

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References
BMW

Application info
BMW 6 (E63, E64) (01/04--)

Stabilizer link

Notes

Length [mm]

Paired article numbers
Thread Measurement 1
Thread Measurement 2

References
BMW

Application info
BMW 6 (E63, E64) (01/04--)

Wulf Gaertner Autoparts AG - www.meyle.com

Front Axle Left

Front Axle Right
Coupling Rod

Plastic

with add-on material

8K0411317D
8K0411317D

Front Axle Right
332

316 060 0057
M10x1,5
M10x1,5
Coupling Rod

31306781542

Front Axle Left
332

316 060 0056
M10x1,5
M10x1,5
Coupling Rod

31306781541

116 060 0049

AUDI A7 Sportback (4GA) (10/10--)
AUDI A8 (4H_) (11/09--)

AUDI Q5 (8R) (11/08--)

AUDI Q7 (4M) (06/15--)

316 060 0056

-
4

316 060 0057

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.

46


http://www.meyle.com

ME )/ILE Suspension

New articles September 2016

Strut mount 100513 1001

Notes

Rear Axle
without ball bearing

References

AUDI 6R0 513 353
SEAT 6R0 513 353
SKODA 6R0 513 353
VW 6R0 513 353

Application info

AUDI A3 (8L1) (09/96-05/03) SKODA Fabia Il (12/06--)

AUDITT (8N3, 8N9) (10/98-06/06) SKODA Octavia | (1U_) (09/96-12/10)

SEAT Ibiza Il / lll / Cordoba / Inca (02/93-06/03) VW Bora (1J2, 1J6) (10/98-05/05)

SEAT Ibiza IV / Cordoba (02/02-11/09) VW Fox/Lupo Z51 (10/03--)

SEAT Ibiza V (6J1, 6J5, 6J8) (03/08-06/10) VW Golf IV (1J1, 1J5) (08/97-06/06)

SEAT Leon / Toledo (1M1, 1M2) (04/99-06/06) VW New Beetle (1Y7,9C1, 1C1) (01/98-10/10)
SKODA Fabia | (08/99-03/08) VW Polo (9N_) (10/01-11/09)

Strut mount bearing 100412 0028

Notes
Front Axle left and right

References

SEAT 7N0 412 249
VW 7N0 412 249

Application info
SEAT Alhambra Il (710) (06/10-05/11) VW Sharan (7N) (05/10-05/12)

Wulf Gaertner Autoparts AG - www.meyle.com 47

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

ME )/ILE Suspension

New articles September 2016

Wheel hub 614 652 0008

Notes

Front Axle left and right
Rim Hole Number 5

Three-point mounting

with add-on material

with wheel studs

References

CHEVROLET 13502828
13583478

GENERAL MOTORS 13502828
13583478

OPEL 328000
328016

VAUXHALL 13502828
13583478

Application info

CHEVROLET Cruze (J300, J305) (07/00-09/08) OPEL Astra J (12/09--)
CHEVROLET Cruze (J308) (08/12--)

Wheel hub 714 651 0004
Notes @
/)

Front Axle left and right _ “ 7 .*
Bolt Hole Circle @ [mm] 104 & N A
Outer diameter [mm)] 134 . -
Rim Hole Number 5

with wheel studs v

without wheel bearing

® .

References
FORD 1S7W-1104-AA '
4103 347
Application info
FORD Mondeo IlI (11/00-08/07)
Wulf Gaertner Autoparts AG - www.meyle.com 48

The original spare part numbers shown here are for cross-reference purposes only and shall not be disclosed to third parties on invoices and delivery notes.


http://www.meyle.com

